
SAP ABAP table J_3R_ANLZV {Time dependent Asset data - completed with values}

J_3R_ANLZV

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

WERKS [CHAR (4)]

GSBER [CHAR (4)]

STORT [CHAR (10)]

CAUFN [CHAR (12)]

IAUFN [CHAR (12)]

TXJCD [CHAR (15)]

IPSNR [NUMC (8)]

SEGMENT [CHAR (10)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

 J_3R_ANLZV-ANLN2 = ANLA-ANLN2 
1

1

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 J_3R_ANLZV-ANLN1 = ANLH-ANLN1 
1..N

1

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 J_3R_ANLZV-CAUFN = AUFK-AUFNR 

0..N

{0,1}

 J_3R_ANLZV-IAUFN = AUFK-AUFNR 0..N

{0,1}

FAGL_SEGM

MANDT [CLNT (3)]

SEGMENT [CHAR (10)]
 J_3R_ANLZV-SEGMENT = FAGL_SEGM-SEGMENT 0..N

0..N
PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 J_3R_ANLZV-IPSNR = PRPS-PSPNR 
0..N{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 J_3R_ANLZV-BUKRS = T001-BUKRS 

1..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 J_3R_ANLZV-WERKS = T001W-WERKS 

0..N

1

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 J_3R_ANLZV-STORT = T499S-STAND 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 J_3R_ANLZV-GSBER = TGSB-GSBER 

0..N

1

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 J_3R_ANLZV-TXJCD = TTXJ-TXJCD 

0..N

1


